2)

3)

4)

5)

6)

7)
8)

9)

X+ 6
X X+ 5
5X +30

X2 + BX
X2 + 11X + 30

X+ 9
X X+ 2
2X +18

X2 + 9X

X2+ 11X+ 18

3X + 1
x X+ 5
15X+ 5

3X2 + X
3X2+16X+ 5

2(6x12)+2(6x3) +2(12x3) =
144 + 36 + 72 = 252 sq. yds.
48x4.8+4(4.8x6.5x1/2)=
23.04 + 62.4 = 85.44 sq. in.
2(5x8)+2(5x21)+2(8x2.1) =
80 + 21 + 33.6 = 134.6 sq. ft.

10)
11)

12)

19)

20)

acute
3:30 +1:45 =5:15
230-32=198

198 x 5/9 = 110° (110.9°)
25 - 15 =10 away games
.40 x 10 = 4 away games lost

3.14 x (28)2x 48 =
118,164.48 cu. ft.

2+62-152-16l
92+B6z=162=187

27A

W N =
— = =

4)

7)

done

done

V =1/3Bh

V = 1/3(10 x 10)(40)
V =1,333.33 cu. in.
V =1/3Bh

V = 1/3(3.14)(22)(6)
V =25.12cu. in.

V =1/3Bh

V =1/3(3.6 x 3.6)(4)
V=17.28cu. ft.

V =1/3Bh

V = 1/3(3.14)(4.22)(9)
V = 166.17 cu. ft.
1/3(2.5 x 2.5)(4.5) =
9.38 cu. yd. rounded

1/3(3.14)(4.52)(8) =
169.56 cu. in.

278
1)

8)

V =1/3Bh

V = 1/3(3.5 x 3.5)(3.5)
V =14.30 cu. yds.

V =1/3Bh

V = 1/3(3.14)(3.42)(7)
V =84.70 cu. in.

V =1/3Bh

V =1/3(5 x 5)(6)

V =50 cu. in.

V =1/3Bh

V = 1/3(3.14)(52)(8)
V =209.33 cu. in.

V =1/3Bh

V =1/3(2.4 x 2.4)(5)
V =9.6cu. ft.

V =1/3Bh

V = 1/3(3.14)(112)(14.3)
V =1,811.05 cu. ft.

1/3(8 x 3)(4) = 12 cu. yds.

1/3(3.14)(23)(5) =
20.93 cu. in.

27C

V =1/3Bh

V = 1/3(60 x 60)(50)

V = 60,000 cu. ft.

V =1/3Bh

V = 1/3(3.14)(622)(52)

V =209,216.11 cu. ft.

V =1/3Bh

V=1/3(1x1)(9)

V=3cu.in.

V =1/3Bh

V = 1/3(3.14)(82)(12.4)

V =830.63 cu. in.

V =1/3Bh

V =1/3(4.8 x 4.8)(10)

V =76.8 cu. ft.

V =1/3Bh

V = 1/3(3.14)(142)(17)

V = 3,487.49 cu. ft.

6x6x6=216cu.in.
1/3(6 x 6)(6) =

72 cu. in.

1/3(3.14)(32)(6) =

56.52 cu. in.

0.2 - 49¢ suonnjog



3)

4)

10)

11)

V=1/3(3 x 3)(12) =
36 cu. in.
1/3(3/14)(32)(12) =
113.04 cu. in.

252+5=257
-155+5=2:00
57

56
+249

4:45

'3:5 2
+1:40

532
X2 +10X +21
2X2 + 9X +4
X2+ 7X+6
8(12.8) = 3.2P
102.4 = 3.2P
P=1024+3.2=32
75X = 12(15)
75X =180
X=24
8R = 5(32)
8R =160
R=20

12)

13)

14)

15)

16)

17)
18)

mean< 1t2+3+6+7+48+8 35

7 7
median =6
mode =8

~ 2k, 10
mean = 3 3 3.33

median =4
mode =4

mean = 9+9 +115+12 +13 =-55—4=10.8

median = 11
mode =9

mean = M:%—:ZLG?

3
median = 25
mode = 25
92 +12%2 =12
81+144 = H?
205 = H?
15 ft.=H
90°
Infinity

27E
1)
2)
3)

4)

L 32

10)

11)

1/3(8 x 8)(5.3) =113.07 cu. ft.
1/3(3.14)(4.52)(15) = 317.93 cu. in.

6:15 +:20=6:35
-240+:20=3:.00
335

510 +:27=537
-333+:27=4:.00
137

6'8
+2:29

8:47
X2+7X+12
X2 +9X + 20
X2+ 9X +8
84P = 7(72)
84P = 504
P=6
3A = 10(18)
3A =180
A=60
308 = 4(24)
32B =96
B=3

13)

14)

15)

16)
17)

18)

19)
20)

4.1_4,7_28_¢3

5 7 5575 ~°%

A 822

X" o 5

2. 1.2.9. 18 _

379°3%7"3°°

mean =

5+5+6+6+6 +7 +7 +10+11_
9

median =6

mode =6

+12

acute

2,3,1_8 _9 6 _23_411

3taTa T etz T T 2

1:16 + 7:51 = 9:07

BX2 +5X +13

3/¢ - d/g suonnjos



27F

1)
2)

3)

11)

12)
13)
14)

15)

16)
17)
18)

19)
20)

1/3(5 x 5)(12) =100 cu. ft.
1/3(8.14)(102)(30) = 3,140 cu. in.
1
3:17
+ 550
907

15:32
+1:40
712

8:16
+3:30
11:46

X2+4X +4
2X2+ 10X +12
X2 +5X

2X =54
X=27

40T =40

T=1

4Q =84
Q=21

b

C
a

mean =
15+20+25+30 +35+35 +40 _ 200

7 7

median = 30
mode = 35
11:13-8:25 =2:48
straight

= 28.57

no; he was saying that 51° was the average

high temperature for the month.
a point

$3.60 x 6 =$21.60

$21.60 x 1.04 = $22.46 (rounded)

10)

11)

12)

13)

14)

15)

16)

17)

18)

done

done

9:25 + 12:00 = 2125
0810

done

done

1921 -12:00 =7:21 PM
9:48 AM

done

1
1215
+0842
2057

11

0328
+1950

2318

done

8
1640

-1345
0345

19
£B62
-0320
1742

done

2314+35=2349
-2125+35=2200
0149

1630+15=1645
-1245+15=1300 /

0345 /7

1100 + 4:00 = 1500

28B

1)
2)
3)

5)
6)

8)

10)

11)
12)
13)
14)
15)
16)

17)

'/1&

10:10 + 12:00 = 2210
7:15+12:00 = 1915
0100

0620
2310-12:00=11:10 PM
1314 -12:00 =1:14 PM
6:50 AM

1:05 AM

1
0554
+0325
0919

1315
+1040
2355
11
1148
+0152
1340

0895
-0251
0644

1180
-1130
0050

2275
-2045
0230

1821+25=1846
-1535+425=1600
0246

2206+40=2246
-0420+40=0500
1746

0938+10=0948
-0250+10=0300
0648

3114 +12:00 = 1514

28C

1)
2)
3)
4)
5)
6)
7)
8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

8:20 + 12:00 = 2020
0540
0000
1200
1730 - 12:00 = 5:30 PM
2150 - 12:00 = 9:50 PM
5:35 AM
12:15 AM
11

1028
+0035

1103

11
2045
+0245
2330

1 1
1618
+0718
2336

51
2340
-1128
1232
1355

-0655
0700

6
0674
0045
0629

1700+18=1718
-0342+18=0400
1318
2319+01=2320
-1259+01=1300
1020

1012+22+1034
-0938+22=1000
0034

1015 + 1300 = 2315

08¢ - 4/¢ suoinjog



